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Abstract: We consider an investor, whose capital is divided into an industrial investment x; and cash
Y+, and satisfy a nonlinear deterministic dynamical system. The investor fixes fractions of capital to
be invested, withdrawn, and consumed, and also the production factor parameter. The government
fixes a subsidy fraction for industrial investments and a tax fraction for the capital outflow. We study
a Stackelberg game, corresponding to the asymptotically stable equilibrium (x*,y*) of the mentioned
dynamical system. In this game, the government (the leader) uses subsidies to make incentives for
the investor (the follower) to maintain the desired level of x*, and uses taxes to achieve this with the
minimal cost. The investor’s aim is to maximize the difference between the consumption and the
price of the production factor at equilibrium. We present an explicit analytical solution of the specified
Stackelberg game. Based on this solution, we introduce the notion of a fair industrial investment
level, which is costless for the government, and show that it can produce realistic results using a case
study of water production in Lahore.

Keywords: taxes; subsidies; industrial investment level; equilibrium; Stackelberg game

MSC: 91B38; 91B52

1. Introduction

In this paper, we introduce and study a simple model for targeting industrial invest-
ments with subsidies and taxes. In this model, there are two players: a government, and an
investor, who at the same time is the owner of an industrial enterprise (e.g., a farm). The
aim of the government is to make incentives for the investor to maintain a specified level
of industrial investments. The government cost is the difference between the subsidies on
industrial investments and the taxes on the capital outflow from production assets. The
aim of the follower is to maximize the difference between the consumption and the price
of the production factor (e.g., the labor). The amount of this factor is related to the size of
the enterprise.

The described problem can be related to the “targeted economic development” ap-
proach [1-4]. Within this approach, which may be opposed to “economic freedom”, policy-
makers can use different instruments to “promote the development of particular firms and
industries” [4]. We focus on government targeting policies, assuming that there are two
instruments, subsidies and taxes, and on mathematical modeling within the Stackelberg
game paradigm. Thus, we regard the government as a leader, and the investor as a follower.

There are various targets that can be the aim of a government. By using subsidies
and taxes, it can make incentives for adoption of a new technology [5], renewable energy
generation and transmission [6], bioelectricity generation [7], product recovery and en-
vironmental performance [8], green technology adoption, green production and product
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development [9-11], new drug R&D [12], R&D investment [13], etc. The problem of target-
ing a monopoly at a desired output level was considered in [14]. The case of agricultural
industry was considered in [15]. We also mention a recent survey concerning circular econ-
omy systems [16]. In general, the role of subsidies and taxes is important for sustainable
development [17,18]. Moreover, the impact of different forms of incentives on the modern
economy is so essential that some authoritative economists argue that it is necessary to
tame them [19].

There are various possibilities for formalizing the targeting of financial investments
problem. We assume that the investor’s capital is divided into an industrial investment
xt and cash y;, and satisfy a nonlinear deterministic dynamical system. The non-linearity
concerns the dynamics of x; and is related to the production function of the enterprise.
Furthermore, we assume that the investor fixes fractions of capital to be invested, with-
drawn, and consumed. The reason for this assumption is that such fixed fraction strategies
appear to be optimal in simplified financial problems concerning investment and consump-
tion [20,21]. Constant rebalancing strategies are also used as benchmarks in the theory of
online portfolio selection [22]. Similarly, we assume that the government fixes a subsidy
fraction for industrial investments and a tax fraction for the capital outflow. This is a basic
form of subsidy/tax strategy [23]. The special feature of our model is the utilization of
the Cobb-Douglas production function for modeling the dynamics of x;. This function
contains a parameter L (the production factor), selected by the investor by paying the price
p per unit of L.

Assuming non-zero consumption, we prove that the mentioned dynamical system has
a unique globally asymptotically stable equilibrium (x*, y*): Theorem 1. The main part
of this paper is devoted to the study of a Stackelberg game, corresponding to (x*,y*). In
this game, the government (the leader) uses subsidies to make incentives for the investor
(the follower) to maintain the desired level x of x*, and uses taxes to achieve this with the
minimal cost. The investor’s aim is to maximize the difference between the consumption
and the price of the production factor at the equilibrium. The precise formulation of this
problem is given in Section 2.

In Sections 3 and 4, we find optimal investor reactions for fixed subsidy and tax
fractions. These reactions are qualitatively different in the two cases where the taxes can be
conventionally called large and small, respectively. Using these results, in Section 5, we
find the solution to the government optimization problem. It appears that there are three
basic cases, depending on the specified level of the desired amount of industrial investment.
(1) For small values of x, subsidies are not required and the government obtains a positive
revenue due to the taxation. There are no industrial investments in this case. (2) For middle
values of x, positive subsidies and taxes coexist. (3) For large values of x, it is optimal to
use pure subsidies without taxes. The investor revenue is increasing in x in all three cases.
Our findings are summarized in Theorems 2 and 3.

Based on the obtained solutions, we introduce the notions of basic and fair industrial
investment levels. The basic level is optimal for the government if it does not want to
achieve a higher target. The levels below the basic one are not Pareto optimal: they are less
favorable for both players. The fair industrial investment level induces neither a cost nor
revenue for the government. It plays a key role in Section 6, where we apply our results
to the analysis of water production in Lahore, considered in [24], and show that the fair
industrial investment level can produce realistic results.

2. Problem Formulation

Consider an investor whose capital is divided into an industrial investment x; and
cash y;. We propose the following model for the dynamics of these components:

xpp1 = ALF((1 = B)xe + (1 + S)ayr)”, @

Yir1 = (1 —a—c)yr + (1 —0)Bxt, 2)
X0 =X0, Yo=Yy 3)
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Here,
(&,B,c) €[0,1]?, a+c<1, L>0, (4)

are the parameters selected by the investor: « is the fraction of cash, intended for industrial
investments, 8 is the withdrawn fraction of industrial investments, c is the fraction of
consumed capital, and L is the production factor, which we will call “labor” for simplicity.
The parameters

6>0, oe€l0,1] (5)

are selected by the government: ¢ is the fraction of industrial investments paid to the
investor as a subsidy, and ¢ is the fraction of withdrawn industrial capital paid by the
investor to the government due to the taxation. Finally, the positive constants A, y, and v
are the parameters of the Cobb-Douglas production function

(L, Z) = AL'Z".

Our standing assumption is
ut+v<li,

which corresponds to the decreasing returns to scale [25]. Note that we use the Cobb-
Douglas production function in a non-traditional way: to model the dynamics of the
industrial capital.

To obtain a more intuitive view of the model (1)-(3) consider the case where there are
no investments and capital outflow: « = 8 = 0. Then, the industrial capital x; will tend to
the equilibrium #, determined by the positive solution equation

X = AL'xY,

irrespective of xy > 0. The value ¥ depends on the amount of labor L and the parameters
A, u, and v of the model. In fact, when ¥ is invested, there is no gain or loss (the capital
does not change). If, for instance, the investor selects a larger value of x, then he will suffer
a loss. This may correspond to buying a large amount of raw materials, which cannot be
fully processed by the enterprise.

Furthermore, we assume that the aim of the government is to ensure the target value
x of industrial investments. For small values of x, it may be possible to achieve this only
with taxes, determined by . Otherwise, subsidies, determined by 4, are also necessary. It is
not clear a priori if it is worth using taxes and subsidies simultaneously (but we will show
that usually this is the case). In fact, the situation is more complex, since we will also allow
the investor, whose aim is to maximize consumption, to select the amount of labor L at a
price p per unit.

The precise problem formulation is based on the asymptotic stability property of the
system (1)—(3). First rewrite this using the shorthand notation: z; = (xt, yt),

ziet1 = F(zt), 20 = Zo. (6)

We say that an equilibrium z* € R% := {z € R?: z > 0} of (6):

is globally asymptotically stable in R2\{0}, if lim; ;0 z; = z* for any initial condition
zo € R2\{0}. By this definition, there can be no more than 1 globally asymptotically stable
equilibriums. Note also that the case z* = 0 is allowed by this definition.
The mapping F : R2 — R2 is monotone with regards to the natural partial order of
R?, generated by R? :
F(z) <F(Z), ifz<Z.
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Moreover, this mapping F is subhomogeneous [26]:
F(Az) < AF(z), z€R%, A>1.
Using these two properties, it is not difficult to prove the following result.

Theorem 1. Assume that ¢ > 0 and the conditions (4) and (5) are satisfied. Then, there exists a
(unique) globally asymptotically stable equilibrium z* = (x*,y*) of (1) and (2),

* 1/(1=v)u/(1-v) ocﬁ v/(1-v)

x*=A L (1_‘B+(1+5)(1_0)0¢+c> , )
_(1=0)B .

y= X —+cC X (8)

in R2\ {0}.

Proof. Solving the equation z = F(z), we can easily conclude that there are two equilibrium
points in R : the origin (0,0) and z* = (x*,y*), defined by (7) and (8). Assume that

c<1l, 1-B+a>0, L>0. 9)

Then, the components x*, y* are strictly positive. Hence, for any z € R2, there exists A > 1
such that zgp < Az*. As was mentioned, the mapping F is monotone and subhomogeneous,
and it is easy to see that its powers F! inherit these properties. Thus,

zt = Fl(zg) < F'(Az*) < AF!(z¥) = Az*.

In particular, the sequence z; is bounded. Consider any convergent subsequence z;, of z;. If
zy, — z,then z;, 41 = F(zy,) converges to F(z). Hence, z € R? is an equilibrium. It remains
to been shown that z # 0. Indeed, if this case z coincides with z*, and if any convergent
subsequence of z; converges to z*, then z; itself converges to z*.

Assume first that 8 < 1 and consider the one-dimensional sequence

Xip1 = ALH((l — ‘B)ft)v, Xo = x9 > 0.

If % < x¢, then
T < ALF((1 = B)xe + (1 + O)ayr)” = xpsa.

Thus, %; < x; for all t. Furthermore,
~ ~ 2
Frp1 = ALF(1— B)'%) = (ALM(1 - B)") ™),
_ (ALV(l . ‘B)V)1+V+“'+thgt+l N (AL‘M(l . ‘B)V)l/(lfl/) ~ 0

ast — 0. Thus, limy_,q, x, > limy_,o ¥, > 0.
Now, let f = 1. Then, &« > 0, x;.1 = ALF(1+6)"a"y],

Y1 =1 —a—c)yr+ (1 —0)ALF(1+6)"a'y} 4, t>2.
Consider the one-dimensional sequence
Jrv2 = CH{,  Jo = Yo
with C = ALF(1 —0)(1+6)"a". If iy < y;, then

G2 < (1 —a—c)yry1 + C < Yirio
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Thus, §; < y; for all even indexes: t = 2n, n € Z.. Since,
Gon = Cif, 5 = CHVG, o, = ClVEH" gt /070 5 g

as n — oo, it follows that if y;, — 0, then we can assume that the indexes t; are odd. If
also xy, — 0, then from (2) it follows that y;, 1 — 0. But this is a contradiction, since the
indexes t; 4 1 are even in this case. This finishes the proof under the assumption (9).

If any of the conditions (9) are violated, then from (1) and (2) it follows quite easily
thatz; — z*,t - 0. O

The optimization problems of the agents are formulated within the framework of the
Stackelberg games. We assume that the government (the leader) selects J, o, the investor
(the follower) selects «, B, c, L, and the system (1)—(3) generates the equilibrium (7) and (8).
For this equilibrium, the follower computes the revenue

cy* —pL, (10)

and the leader computes the cost
day™ — opx*. (11)

Here, (10) is the difference between the follower consumption and the total cost of labor
at the equilibrium, and (11) is the difference between the amount of subsidies and taxes.
In the following, we will use the names “leader” and “follower” instead of “government”
and “investor”.
According to the protocol of the Stackelberg game, for a given J, o the follower finds &,
ﬁ, ¢, L, which maximize (10) under the constraints (4). These values are substituted in (11)
and the leader finds optimal 6%, ¢* by minimizing (11) over the parameters (5) under an
additional constraint
x> x, (12)

reflecting the main goal of the leader: to ensure the required level x of industrial investments.
The case ¢ = 0 corresponds to zero consumption, and is not interesting for us. So, we
will assume that the condition ¢ > 0 of Theorem 1 is satisfied. Put

y=a/e, p=(1+0)1-0).

It is natural to call <y the investment-to-consumption ratio. From (7) and (8) we obtain

/(1-v)
o = AV /() (1—ﬁ+p 7B )v J

+7
* (1 — (T):B *
cy = Ti, x5, (13)
and the optimization problem (4) and (10) of the follower takes the form
ma;iiﬁrlrgize f(y,B L) = (11—_'_(7’3!3){* —pL
_=9B yya-v)ua-v(1_(1_,_7 v
= A L 1= (1-pp )P pL,  (14)
subjectto 7y €[0,00), B€[0,1], L€ ]0,0). (15)

Note, that the follower’s actions will only determine the product of the capital level y* and
the consumption fraction ¢, see (13), and not y* and c individually.
Similarly,

wy* = yey" = T4
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and the leader problem (5) and (10), (12) can be rewritten as
C . Y *
5,0)=|(1—-0)6—— — , 17
minimize g(6,0) (1-0) T+ o|Bx (17)
subjectto x* >x, 6€0,00), o€][0,1]. (18)

We hide the dependence of f on the parameters of the leader J, ¢, and the dependence
of g on the parameters v, B, L of the follower. We repeat that, according to the protocol
of the Stackelberg game, the leader looks for the parameters 6%, o*, solving (17) and (18),
where the parameters v, B, L are substituted by the optimal reactions §(4, o), fi(é, o), L(6,0)
of the follower, obtained from (14) and (15).

Although the described Stackelberg game looks cumbersome, we were able to find its
explicit solution. The optimal behavior of the agents is described in Theorems 2 and 3. For
the follower problem (14) and (15), it appears that the parameter p plays a key role and its
critical value is 1. For brevity, we can say that the taxes (for the capital outflow) are large if
p <1, and small if p > 1. The analysis of this problem is performed in Sections 3 and 4.
For the leader problem, a key role is played by the level x. This problem is considered in
Section 5.

3. Follower’s Problem in the Case of Large Taxes

In this section, we assume that p = (1+)(1 —0c) < 1. To solve (14) and (15) we
sequentially consider three one-dimensional optimization problems:

imi ,B,L), 19
maximize f(r,B,L) (19)
maximize f(v,B,L), (20)

r=0
ma>£1§)uze f(4,B,L), (21)

where B is the solution of (19), and 7 is the solution of (20). Note that B can depend on
(7,L), and 4 can depend on [3, L. Certainly, the solution ( B, g, ﬁ) obtained in this sequential
manner coincides with the optimal solution of (14) and (15). Note that we do not explicitly
show the dependence on the parameters 6, 0.

To solve (19), consider the logarithm of the objective function and the related optimiza-
tion problem

. . 1/ f)/
=1 —In(1—(1—p—— .
maximize ¢(f) =Inp+— n( ( p1+7>ﬁ>

Solving the equation ¢’ (B) = 0, we conclude that, being extended to (0, o), the concave
function g attains its maximum at

B_ 1—v
1—py/(1+7)
If B < 1, then B = B. Otherwise, B = 1:
1—v T oLV
B=LS1-py/(1+7)" 147~ p’ (22)
1, otherwise.

Note that the second case appears only if v/p < 1.
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The objective function (20) takes the form

0% v
/L 7 T S —
fily, L) 1+9 ~p (23)

fa(7, L), otherwise.

f(%B/L)={

1-— 1-—
fl (’)/, L) = WAl/(lV)LV/UV)UV/(lV) _ PL, (24)

v/(1-v)
foly, L) = (1 — o) AV A=) pu/(=v) gu/(1=v) T

—(1 n ’Y)l/(l_") — pL. (25)

The function (24) attains its maximum at v = 0. If p = 1, then any other value of 7 is also
optimal, but we will assume that the follower still picks v = 0, since this is the most natural
choice: do not invest if the investment does not increase the objective function.

Assuming that v/p < 1 and maximizing (25) over [0, o), we obtain the solution 7%,
satisfying the equation 7/ (1 + %) = v. But due to the constraint

Y

7>K>v
I+~ p "~

4

we conclude that the maximum is attained at the solution of the equation
_r Y
I+y o
Hence, if v/p > 1, then § = 0. Otherwise, to solve the problem (20), we need to
compare the expressions

A0,L) = (1 —0)(1 —v) AV A/ A=v)yv/=v) _pp

/(1-v)
v/p 1/ (1=v) 7 u/(1—v) v/ (1-v) <V>V
1) =(1-0)A Lt v 1—1/p) —pL
A2 t) =a-0) /0 (2) v -
_ (1 . 0_) (1 _ 1//p)Al/(lﬂz)L}L/(lﬂ/)l/l//(lfv) . PL.
The first expression is larger, hence
4=0, B=1-v. (26)
The problem (21) takes the form
maximize  f(, B,L) = HLM(-Y) —pL, 27)
where H = (1—0)(1—v)p"/ -4V 0-v),

Its optimal solution equals

L/ H O\ (0/-)
L= (5) '

The optimal value of the objective function (27), which coincides with the optimal value of
the problem (14) and (15) for p < 1, equals

p/ (- (w4p) . 1
C Ay~ (L po\TEm p T
Fap L) =C (%) [(1_1/) a

D(1 — ¢)(1=v)/(A=(+w), (29)

(28)
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B 1-v i

1oy L 1-(v+u) T=(v+n) 1 T

D= (1-v)T-wrmyTviu g T u 1=(v+p) AT 1)1 +14).
1-v 1—v p

The quantity (29) decreases in . It does not depend on 6, since § = 0; see (26).

4. Follower’s Problem in the Case of Small Taxes

In this section, we assume that p = (1 +)(1 — ) > 1. We will again sequentially
solve the same optimization problems (19)—(21). It is easy to check that the solution of (19)
and the corresponding optimal value of the objective function are still given by (22)—(25).
Now the maximum of f; is attained at the largest possible <, which is determined by
the equation

v v
1+ o

The maximum of f; is attained at the solution of the equation

Y

v
—_— =V > —.
14+7% Y

To solve the optimization problem (20), we need to compare

1—
A1) = F0/ L) = g A G 00—,
~ ~ 1-0¢ - . -
ATL) = fOLL) = =AY I (pr) /07 — pL
We claim that the second of these expressions is larger:
1 1 v/(1-v)

and hence § = 7. To show this, consider an equivalent inequality:
1-2 < (1—v)p"/ (=),
P
which is the same as
P(r) = 1 —r)r/ 0V <« A —v/0Y, r=v/p <.

This inequality is true, since the function ¥ is increasing on (0, v):

1 1
I =2 -_ .
(ng(n) = 17—r == >0, re(0v)
We have proved that
LV A
y=1— P=1 (30)

The problem (21) takes the form

ma>L<i>1%)lize F(4,B,L) = p/ O HLH (O=v) _ pL,

which is quite similar to (27). Using the obtained Formulas (28) and (29), we can con-
clude that

t_pwu%wwnciff , (31)

(1-v)/ (1~ (v+p))
Pl—V)
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and the optimal value of (14) and (15), under the assumption p > 1, equals

£(3,B,1) = Do/ =(+10) (1 — ) 1=0)/ (A=)
_ D(l +5)u/(lf(v+y))(1 _0,)1/(17(v+y))_

5. Leader’s Problem and the Main Results

To write the leader problem, substitute the obtained optimal solution (4, B, L) of
(14) and (15) into (17) and (18):

o . o _ L P
mmgfmze 8(6,0):= [(l (7)51 3 (7] Bx*, (32)
subjectto x*>x, 6€0,00), o€][0,1], (33)
where
1/(1—v)fu/(1-v) ¥ 2\
F=AYVUTYIL 1= (1- .
: (1= (-ri)8)

We will minimize ¢ over the sets p < 1 and p > 1 separately. For brevity, in the following,
we do not mention the constraints o € [0,1], > 0, which always hold true.
In the case of large taxes: p <1, wehave 4 =0, =1—v,

minimize ¢(J,0) = —o(1 —v)x",

/(1— ]
o = AV A=) p/ (=) fu/ (=v) _ A1/ (1=v) v/ (1) (P‘lH)” o)
pL—v

AV () o/ (- () (V (1= o)W/ (=t

u/(1=(v+p))
;)

The condition x* > x reduces to
c<1-B,

1
B— (1) /#Bx(l—v—ﬂ)/ﬂ_ (34)
AvY u-

Thus, under the assumption p < 1, the problem (32) and (33) is solvable if B < 1. This
means that by using large taxes it is impossible to achieve an industrial investment level x
with a corresponding value of B greater than 1.

Assume that B € [0,1]. Then, under the assumption p < 1, an optimal leader’s
strategy is

where

6=1-B, 5=0. (35)

Note that any § < 1/(1 — &) — 1 is also optimal, but § = 0 is the most natural choice: if
subsidies do not decrease the cost, do not use them. The optimal cost equals

§(6,0) = —(1—-v)ox=—(1-v)(1—B)x. (36)

This cost is negative and its absolute value is the revenue of the leader.
Now consider the small taxes: p > 1. The objective function (32) takes the form

minimize §(d,0) = [v(1 —0)d — ox¥, (37)
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where
= A1/(1—V)U[/(1—v)(pv)u/u—v)
— AV (1=v) gu/ (1) guie/ (1=v) (=v=p0)) v/ (1=v) (yH)W(l—(vﬂt))
pl—v
_ AV (v /(=) (V)H/(lvy)pv/(lvy)(l )/ (=)
14
_ A/ (=) v/ (1—v—p) (ﬁ)ﬂ/(lvﬂ)(l _ o))/ (=v=p) (1 . g/ (=v=p)
We can rewrite the constraint x* > x as follows:
(1—0)#H)/1(1 4 5)"/# > B, (38)
We need also to take into account the condition
p=01-0)(1+6)>1. (39)
Inequalities (38) and (39) are equivalent to
/v
1+6> (15—;40“"1’)/1" 1+6> %,
respectively. Clearly, (38) is stronger then (39) if
oc>1-B.
This means that the function (37) should be minimized under constrains
c<1-B, 1+(5>L, (40)
1—-0
c>1-B, 1+6> Br/Y 41)

- (1 _ 0—)(,11-‘:-1/)/1/'

The case (40) is possible only if B < 1. Assume that this is the case and formally extend

¢, given by (37), to the set

c<1-B, 1+5Z%

by the same formula. The optimal values ¢, ¢ of the extended function satisfy the equalities

6=1-B 1+5=—'

since the function (37) is increasing in J and decreasing in ¢. The value
8(6,0)

coincides with (36). Thus, we need not further consider the set (40).
Consider the case ¢ > 1 — B. Again, we formally extend §, given by (37), to the set

vB(1/B—1)— (1—B) = —(1—v)(1 - B)x

BH/v

>1— > —
ocg>1-B8, 1+5_(1_U)(H+V)/V

(42)
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Minimizing (37) over J, we obtain
. BH/v
) (43)

(1— a)(PH'V)/V

. BH/v
g(6,0) = (1/(1_0)#/1/ —(1-0o)v— (7) x.

Formally minimizing this function over ¢, we obtain

v/ (pu+v)
(7:1—< M > : g/ (p+v)
1—v

The condition ¢ > 1 — B is equivalent to B > /(1 — v), while the condition & > 0 is

equivalent to
_y\V/H
B< (1 V) .
H

Thus, the optimal solution of (37), (42) is given by

—_
|
&
s~}
| VAN

1/

/(u+v)
. . H Y u/ (utv) <
=141 ( ) B , 1—1/_B

v/u
. ()"
4

By substituting these values into (37) after simple calculations, we obtain the optimal values
of the extended function ¢ under the condition (41):

(44)

~(1-v)(1-B)x, B< /
1—v\"*
§(6,0) = (%(y,v)Bﬂ/(uw)_l)L 1KV§B§< m ) , (45)
—_y\V/H
(BHY —1)x, (1/) < B,
1\ #/ (ptv) u v/ (ptv) 1 — p\#/ (ptv)
s(pu,v )—1/( ﬂ ) +(1—V)<1v) =(y+v)( i ) . (46)

Note that

—y\V/H
i <1<(1 V) .
1-v u

The values in the first line of (45) correspond to the artificial extension of ¢ to the set
where ¢ = 1 — B. Fortunately, this value is the same as (36), which is attained on the set
p < 1; see (35) for the correspondent optimal solution. Thus, according to (35), we can put
5 = 01in this case. Furthermore, formally the first lines in (44) and (45) correctly describe
the optimal action of the leader and the optimal value of the objective function.

We claim that the same is true in the remaining two cases in (44) and (45). This is
evident for B > ((1—v)/ y)v/ # > 1 since this case is possible for p > 1 only. To prove
the claim for the intermediate values of B, we need to show that the expression in the
middle line of (45) is smaller than (36) for B € [i/(1 —v), 1]. But this result follows from
the concavity of the function x(B) = B/ (+v) —1:
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x(B)<x< F )+x(1ﬁv><3—1ﬁv)

:v+y—1+(1—u)(3—1fv) =-(1-v)(1-B).

Note, that § is determined by (43) in these cases.
The above argumentation shows that the optimal value of the leader objective func-
tion is given by (45), the optimal tax fraction is given by (44), while an optimal subsidy

fraction equals
b= 0-v)/p-1, ( ) (47)

/v 1, <1U> <B
H

These results are summarized in the next theorem, where we also substitute B with its
expression (34), to obtain a more clear answer in terms of the industrial investment level x.

0, B

\ AN

'Q‘

m

Theorem 2 (leader’s optimal strategy). Put

1/ (1—v— /(1—=v—
f = (AVU)l/(lfvfu) (P‘>} ( H)( u )}4 ( V)’

p 1—v
ly — (AVV)l/(l_V_M) <V>H/(1—y—v) (1 _ V)l//(l—v—y)
2 ; ; '

The leader’s optimal cost g*, optimal tax fraction o* and optimal subsidy fraction 6* are given by

1NY"p 1wy
. 1 \ V() p u/ (ptv)
g =t (5) (B) 0 2y m<x<n, 69
1/v u/v
() Q) e
1/
1= <A1/v> HZx(lV”)/” x <y,
ot — 1 \ V@t p u/ (ptv) u /(ptv)
_ F (I=p=v)/ (u+v) <x<
! (AI/V> (;4) (1_1,) b <x< by,
O’ 62 S X,
0/ & S el/
5*_ 1_1/_1/ £l<£§€2/

M
1/v u/v
G () s s

Proof. All formulas are obtained from (44), (45) and (47) by substituting the expression (34)
for B. We omit the corresponding elementary calculations. [

where s is defined by (46).
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Now, we can describe the optimal follower strategy by substituting 6*, o* into the
expressions for ¥, ,B, ﬁ, obtained in Sections 3 and 4. We present the components of the
optimal follower strategy in the feedback form; that is, as functions of 6*, ¢*, and in a more
explicit form, as functions of x.

Theorem 3 (follower’s optimal strategy). Put p* = (1 +6*)(1 — ™). The optimal fraction of

industrial capital outflow B*, the optimal fraction of the investment-to-consumption ratio y*, and
the optimal amount of labor L* are given by

g — T—v, p*<1_J1-v, x<h
1, p*>1 1, x>0,

o fo. <1 o oxs<n
T v p*>1 ! 4

1 _ 1// 1 _ 1// K > 1/
(1=v)/(A=v—p)
(AVV)l/(lfl/fy) (%) v V—p (1 _ U_y;)(]—]/)/(l*l/*]'{)’ p* <1,
L* = _ —y—
1/ (1—v—p) [ # A=)/ (1=v=p) s \V/(1—v—p) (1 _ 7*\1/(1—v—p) *
(Av) # ) (1+6%) (1 —0%) M, p*>1

1 1/
(A V) 2= x <ty
v
1/(u+v) v/ (p+v) v/(u+v)
- (Ai”) (%) (1 . v) W, <zl )
By, b <x
p

The follower’s optimal revenue equals

* (1 _U*)ﬁ* _ *
f=e et
1 \""p 4
(1 K- 1/) <AVV> gl(l 1/)/Hl x < el/
= 1\ Vv p u/ (ptv) u v/ (ptv)
(1—P‘—V)<AVV> (#) (1_1/) /B, < x <0,
(1—p—-v)x, b < x.

Proof. The representations of 8%, v* and L* in the feedback form are given by (26) and (28)
for p* < 1, and by (30) and (31) for p* > 1. Their representation as functions of x then
follows from the formulas for 6*, c* given in Theorem 2. The optimal value f* of the
follower objective function is obtained by substituting the obtained optimal strategies of
both players into (14). Again, we omit long but elementary calculations. [

Let us mention some aspects of the obtained solution. We see that the leader’s cost g*
and follower’s f* revenue are increasing functions of x. For large values of x, the cost g*
tends to infinity faster then x, and the revenue f* is linear in x. Furthermore, the optimal
tax fraction ¢* is non-increasing in x, and equals zero for x > /;. The optimal subsidy
fraction is non-decreasing in x and equals a positive constant for intermediate values of
the desired level of industrial investments: x € (¢1, {3]. Note also that the labor factor L* is
increasing in x.

Furthermore, it is not difficult to check that the derivative of g* is continuous at the
points £1, ¢, and

() (1 —0) = (g") (62 +0) = 0,
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(8)(l—0) = (") (t+0) = 1=V 5 g
It follows that g decreases on (0, ¢1) and increases on ({1, 00). Since f* is increasing, it
becomes clear that the levels x at the interval (0, /1) are not Pareto optimal. That is, by
decreasing taxes, the leader can increase his revenue (decrease his negative cost), while at
the same time increasing the revenue of the follower and the level of industrial investments.

Let us call /1 the basic industrial investment level. The leader cost ¢g* attains its minimum
at this point. So x = /7 is the most favorable for the leader if he does not want to target
a larger industrial investment level. As was preciously mentioned, lower levels are less
favorable for both players.

Finally, denote by x° the positive solution of the equation ¢g*(x) = 0. Let us call x° the
fair industrial investment level. This name is related to the fact that the leader obtains neither
losses nor revenues at this level. Since

g (6) <0, g*() = %(1 —pu—v)lr >0,

we conclude that x° € ({1, ¢,), and its explicit expression follows from the middle line

in (48):

1\ (#+v)/(A=p=v) p/(1=p=v)

x° = () (A (=p-) (”) : (50)
» P

Interestingly, the tax and subsidy fractions, inducing x°, only depend on y and v:

X0\ __ 1 H V/(;H-V)_ v 1_V_V % (2.0 _1_1/_#
O'(X)l—%< ) 71—1/W’ (5(x)—T, (51)

_ 1
TR

p(x?) = (1+6(x%))(1 = (x%))

For an illustration, consider the following parameter values:

(52)

A=18 u=03 v=05 p=1

Here, {1 ~ 0.255, x° =~ 0.622, {; ~ 1.968. The functional dependencies of f*, g*, 6*, c*
on the industrial investment level x are shown in Figure 1. A more realistic example is
presented in the next section.

(a) (b)

_ 1.0 1
1.0 g
— f
0.8
0.81
06 J ()6 7
0.4+ 0.4 1
0.2 1 021
0.01 0.0-
51 x° 52 x 51 x° 62 x

Figure 1. (a) Follower’s optimal revenue f*, and optimal leader’s cost g*. (b) Optimal subsidy
fraction 6*, and optimal tax fraction o*.
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6. Case Study: Water Production in Lahore

In a recent paper [24], the authors used the Cobb-Douglas production function to
model a local water company in Pakistan. The water processing process includes filtering,
adding chemicals, packing, and selling at the market. The amount P of produced water
(measured in liters: 1) in [24] was modeled as

P = ALFMY, (53)

where L is the number of labor hours, and M is the amount of raw materials, measured in
kg. The parameter values

A =3212468, u =0.3568, v =0.0542

were estimated in [24] for the real data related to local branches of Chemtronics Water
Services in Lahore, Pakistan. These estimates were based on the samples of P, L, M with
the following means (we show the standard deviations in brackets):

P =357-10°(+1.25-10%), L =304.5(+25.7), M = 903.4(+36.7). (54)
According to [24], the price of raw materials p;, and the price of labor p are given by
pm = 100 PKR/kg, p = 1400 PKR/hr,

where PKR is the abbreviation for Pakistan rupees. The price of processed water was not
given in [24]. In fact, it can depend on the quantity sold, the brand, and other factors. A
google query like “the price of pure (drinking) water in Lahore” gives the range from 30 to
50 rupees per liter. Let us take the lowest of these values

pw = 30 PKR/I

as a rough approximation, since we are on the wholesale manufacturer’s side.

Instead of (53), for our model we need the dependence between the current and future
amount of industrial investments; see (1). In view of (53), Formula (1) should be rewritten
as follows:

_ v
Xts1 = PuPrin = poAL (HER LI T — ALI((1 = B)x; + (14 O)ays)",

A= P2 4~ 75086. (55)
m
The model and the problem formulated in [24] are quite different from ours. For
instance, the former did not take into account taxes, subsidies, and the market price of
water. Thus, it would be interesting if our model can produce realistic results concerning,
e.g., water production. Let us compute this quantity for the critical values /1, ¢ of the
industrial investments:

wy = {1/ pw = 17808, wy := fy/py ~ 35161,
and the fair production level w°, corresponding to the fair industrial investment level (50):
w® = x°/ py ~ 33120.

Surprisingly, this value is not far from the true average production value P given by (54),
while the basic production level w; is almost twice as small. The functional dependence of
f*, g%, 0% 0" on the production level w := x/py is given in Figure 2. The tax and subsidy
fractions (51) in our case equal

c*(x°) = 0.08, 6" (x°) ~ 1.65.



Mathematics 2024, 12, 822

16 of 18

Note that the subsidy amount is quite large.

61— 9" o
— 7 5] — &
4<
2 27
0 N
_2«
0<

: — : —
wy wows g wy wwy

Figure 2. Prediction of the dependence of basic quantities on the amount w of water produced in
Lahore. (a) The follower’s optimal revenue f*, and the leader’s optimal cost g*. (b) Optimal subsidy
fraction 6*, and optimal tax fraction o*.

As was mentioned, our guess concerning the price of water p, = 30 PKR/1 was
rather rough. Let us compute the production level, the amount of raw materials and labor,
corresponding to x°, for py, in a certain range. The amount of production equals

o vy 1/ (1—p—v) u/(A=p—v) (n+v)/(A—p—v)
el o X v U Pw\ ¥ "
P = —_—= A —_— - I . 56
(x) Pw ( (pm) > (P) <%> %)

To compute L*(x°), we use the middle line in (49), and Formulas (46), (50) and (55):

LNV N N
*(O0) sl o\1/(p+v)
vz G) ()

B ( A (U)l/>l/(1—}l—l/) (P‘) (1=v)/(1=p—v) <’u>(1—1/)/(1—;4—1/) 1/ (—p—v) &)
= — Pw .
H+V\ Pm p 1—v

The amount of raw materials used in production at equilibrium (x*,y*) is given by

M" = = —(1-B+o8—— ,
Pm Pm p pﬁl‘f")’ *

where we used (16). But for x* = x°, using Theorem 3 and Formula (52), we have

paoy=1, L&) ey =]

T+ (x) R
Thus,
* (.0 v x° 4 Pw * (.0
M*(x°) = — = —P*(x°). 58
() = o = 7 aeP () ()

Table 1 shows the dependence of P*(x°), L*(x°), M*(x°), given by (56)—(58) on the water
price py in the range [25,40] (per liter).

To compare the results predicted by Table 1 with the true average values (54), consider
two lines corresponding to the production amounts of 35,398 and 36,143 L. We see that the
predicted optimal amount of labor is lower than L, and the predicted optimal amount of
raw materials is higher than M. Interestingly, in [24], the obtained optimal values of labor
and raw materials (for the production level 36,000) of 334 and 688, respectively, shifted in
the opposite direction.
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Table 1. Predicted dependence of the optimal amounts of production, labor, and raw materials on the
price py of processed water at the fair industrial investment level x° (the case of Lahore, Pakistan).

Water Price, PKR/1 Production, 1 Labor, hr Raw Materials, kg
Pw P*(x°) L*(x°) M* (x°)
25 29,164 171 961
26 29,973 182 1028
27 30,773 194 1096
28 31,564 207 1165
29 32,346 219 1237
30 33,120 232 1310
31 33,887 246 1385
32 34,646 259 1462
33 35,398 273 1540
34 36,143 287 1621
35 36,882 302 1702
36 37,614 317 1786
37 38,340 332 1871
38 39,060 347 1957
39 39,774 363 2046
40 40,483 379 2135

Note that it is also possible to predict the price of water using Table 1. If we calibrate
the production amount according to the average value P, given in (54), then the predicted
price of water will be approximately 33.5 PKR/1.

7. Conclusions

We introduced and studied a model for targeting industrial investments by using
subsidies and taxes. We analyzed a Stackelberg game corresponding to the equilibrium
of the dynamical system that governs the components of investor’s capital. The obtained
explicit solution transparently described the strategies of the government and the investor.
Based on this solution, we introduced the notion of a fair industrial investment level x°,
which is costless for the government. Using a case study of water production in Lahore, we
showed that x° can produce realistic values for the amounts of production, labor, and raw
materials. This result appears encouraging.

This paper may serve as a baseline for further development of the proposed model.
Let us mention a few possible research directions.

Adding randomness, which preserves a form of asymptotic stability of the correspond-
ing dynamical system, in principle allows stating a problem in a similar manner. However,
such a problem will be much more complex, and its analysis will certainly require numeri-
cal methods to obtain quantitative results. The obtained exact solution in the deterministic
case may be useful for testing such methods. A more simple case arises when only the
parameters of the Cobb—Douglas production functions are randomized.

Another possibility would be to consider several investors for the same enterprise.
Here, an additional problem concerns the capital sharing, and this is related to game
theory. A distinct problem concerns a game between different enterprises producing the
same good.

Finally, it is possible to allow the investor and/or the government to use more complex
strategies. This should result in a dynamic game over a finite or infinite horizon. In addition
to the inevitability of numerical methods, here, an additional significant difficulty arises:
one needs to take into account the initial conditions and the horizon, if it is finite.

Author Contributions: Conceptualization, D.B.R. and G.A.O.; Methodology, D.B.R. and G.A.O.;
Formal analysis, D.B.R.; Investigation, D.B.R. and G.A.O.; Writing—original draft preparation, D.B.R.
All authors have read and agreed to the published version of the manuscript.



Mathematics 2024, 12, 822 18 of 18

Funding: The research of D.B. Rokhlin was supported by the Regional Mathematical Center of the
Southern Federal University with the Agreement No 075-02-2023-924 of the Ministry of Science and
Higher Education of Russia.

Data Availability Statement: Python code, producing Figure 1 can be found in a repository through
the following link: https://github.com/drokhlin/industrial_investments/ (accessed on 3 Febru-
ary 2024).

Conflicts of Interest: The authors declare no conflicts of interest.

References

1. Calcagno, P; Hefner, F. Targeted economic incentives: An analysis of state fiscal policy and regulatory conditions. Rev. Reg. Stud.
2018, 48, 71-91.

2. Mitchell, M.; Sutter, D.; Eastman, S. The political economy of targeted economic incentives. Rev. Reg. Stud. 2018, 48, 1-9.
[CrossRef]

3. Tuszynski, M.P; Stansel, D. Targeted state economic development incentives and entrepreneurship. J. Entrep. Public Policy 2018, 7,
235-247. [CrossRef]

4. Mitchell, M.D.; Farren, M.D.; Horpedahl, J.; Gonzalez, O.]. The Economics of a Targeted Economic Development Subsidy; Mercatus
Center at George Mason University: Arlington, TX, USA, 2019.

5. Hattori, M,; Tanaka, Y. Subsidizing new technology adoption in a Stackelberg duopoly: Cases of substitutes and complements.
Ital. Econ. J. 2016, 2, 197-215. [CrossRef]

6. Fang, D.; Zhao, C.; Yu, Q. Government regulation of renewable energy generation and transmission in China’s electricity market.
Renew. Sustain. Energy Rev. 2018, 93, 775-793. [CrossRef]

7. Zhao, N.; You, F. Dairy waste-to-energy incentive policy design using Stackelberg-game-based modeling and optimization. Appl.
Energy 2019, 254, 113701. [CrossRef]

8.  Pazoki, M.; Zaccour, G. A mechanism to promote product recovery and environmental performance. Eur. |. Oper. Res. 2019, 274,
601-614. [CrossRef]

9.  Cohen, M.C,; Lobel, R.; Perakis, G. The impact of demand uncertainty on consumer subsidies for green technology adoption.
Manag. Sci. 2016, 62, 1235-1258. [CrossRef]

10. Chen, X,; Li, J.; Tang, D.; Zhao, Z.; Boamah, V. Stackelberg game analysis of government subsidy policy in green product market.
Environ. Dev. Sustain. 2023. [CrossRef]

11. Zolfagharinia, M.; Zangiabadi, M.; Hafezi, M. How much is enough? Government subsidies in supporting green product
development. Eur. J. Oper. Res. 2023, 309, 1316-1333. [CrossRef]

12. Huang, Z.; Lan, Y.; Zha, X. Research on government subsidy strategies for new drug R&D considering spillover effects. PLoS
ONE 2022, 17, e0262655.

13.  Shao, J.; Hua, L. Research on government subsidy policy for firms” R&D investment considering spillover effects: A Stackelberg
game approach. Financ. Res. Lett. 2023, 58, 104415.

14. Benchekroun, H.; Van Long, N. A class of performance-based subsidy rules. Jpn. Econ. Rev. 2008, 59, 381-400. [CrossRef]

15. Fan, T,; Feng, Q.; Li, Y.; Shanthikumar, J.G.; Wu, Y. Output-oriented agricultural subsidy design. Manag. Sci. 2023. [CrossRef]

16. De Giovanni, P; Ramani, V. A selected survey of game theory models with government schemes to support circular economy
systems. Sustainability 2024, 16, 136. [CrossRef]

17.  Pezzey, ]. Sustainable Development Concepts: An Economic Analysis; World Bank Environment Paper No. 2; World Bank: Washington,
DC, USA, 1992.

18. Caradonna, J.L. Sustainability: A History; Oxford University Press: Oxford, UK, 2022.

19. Bartik, T.]. Making Sense of Incentives: Taming Business Incentives to Promote Prosperity; WE Upjohn Institute: Kalamazoo, MI, USA, 2019.

20. Browne, S. The return on investment from proportional portfolio strategies. Adv. Appl. Probab. 1998, 30, 216-238. [CrossRef]

21. Rogers, L.C.G. Optimal Investment; Springer: Berlin, Germany, 2013.

22. Li, B.; Hoi, C.H. Online Portfolio Selection: Principles and Algorithms; CRC Press: Boca Raton, FL, USA, 2015.

23. Zagler, M,; Diirnecker, G. Fiscal policy and economic growth. J. Econ. Surv. 2003, 17, 397—418. [CrossRef]

24. Muhammad, S.; Hanan, F; Shah, S.A.; Yuan, A.; Khan, W. Sun, H. Industrial optimization using three-factor Cobb-Douglas
production function of non-linear programming with application. AIMS Math. 2023, 8§, 29956-29974. [CrossRef]

25. Dwivedi, D.N. Microeconomics: Theory and Applications; Pearson Education: New Delhi, India, 2006.

26. Hirsch, WM. Positive equilibria and convergence in subhomogeneous monotone dynamics. In Comparison Methods and Stability

Theory; Liu, X., Siegel, D., Eds.; Marcel Dekker: Basel, Switzerland, 1994; pp. 169-188.

Disclaimer/Publisher’s Note: The statements, opinions and data contained in all publications are solely those of the individual
author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to
people or property resulting from any ideas, methods, instructions or products referred to in the content.


https://github.com/drokhlin/industrial_investments/
http://doi.org/10.52324/001c.8003
http://dx.doi.org/10.1108/JEPP-D-18-00033
http://dx.doi.org/10.1007/s40797-016-0031-1
http://dx.doi.org/10.1016/j.rser.2018.05.039
http://dx.doi.org/10.1016/j.apenergy.2019.113701
http://dx.doi.org/10.1016/j.ejor.2018.10.029
http://dx.doi.org/10.1287/mnsc.2015.2173
http://dx.doi.org/10.1007/s10668-023-04176-y
http://dx.doi.org/10.1016/j.ejor.2023.02.011
http://dx.doi.org/10.1111/j.1468-5876.2008.00440.x
http://dx.doi.org/10.1287/mnsc.2023.4749
http://dx.doi.org/10.3390/su16010136
http://dx.doi.org/10.1239/aap/1035228001
http://dx.doi.org/10.1111/1467-6419.00199
http://dx.doi.org/10.3934/math.20231532

	Introduction
	Problem Formulation
	Follower's Problem in the Case of Large Taxes
	Follower's Problem in the Case of Small Taxes
	Leader's Problem and the Main Results
	Case Study: Water Production in Lahore
	Conclusions
	References

